Light Vehicle Diesel Engines, 1st Edition
Chapter 13

Name

MATCHING. Choose the item in column 2 that best matches each item in column 1.

1) Common rail system advantage

2) Not re-usable

3) Drives the high-pressure pump

4) Common rail system disadvantage
5) Injector type

6) Provides high voltage

7) Stores freeze frame data

8) Helps find leaks

9) Not used to find leaks

10) Classification code location

A) Decreased emissions

B) Modular

C) High cost of parts
D) Transfer tubes

E) On the rail

F) Solenoid
G) Dye
H) On the injector

I) Camshaft

J) DC-DC converter
K) PCM

L) Hand or finger

M) Vacuum

4)

5)

6)



Answer Key
Testname: LVDE1 MATCH13

1)B
Page Ref: 142
2)D
Page Ref: 145
3)1
Page Ref: 146
4)C
Page Ref: 143
5)F
Page Ref: 149
6)]
Page Ref: 150
7)K
Page Ref: 150
8) G
Page Ref: 152
9L
Page Ref: 152
10) H
Page Ref: 153



